
Solutions for Chapter 11

Schemas

Solution 11.1 (Dates)

(a)

FullDate
year : N
month : Month
day : 1 . . 31

Date
month = feb ∧ year 6∈ Leap ⇒ day ≤ 28

(b)

{ FullDate | year ∈ Leap ∧ month = feb ∧ day = 29 ∨
year 6∈ Leap ∧ month = feb ∧ day = 28 }

�

Solution 11.2 (Access control)

(a)

AccessControl
status : Status
local : Host
hosts : PHosts
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(b)

EmptyList
status : Status
local : Host
hosts : PHosts

hosts = ∅

(c)

NoRemoteAccess
status : Status
local : Host
hosts : PHosts

hosts = {local}

�

Solution 11.3 (Supermarket)

(a)

SuperMarket
checkouts : PCheckout
queue : Checkout 7→ seq Person

dom queue ⊆ checkouts
∀ c1, c2 : dom queue | c1 ≠ c2 •

ran queue c1 ∩ ran queue c2 = ∅

(b)

NoMore
. . .

. . .
dom queue = checkouts

(c)
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TooBusy
. . .

. . .
∀ c : dom queue • #(queue c) ≥ 3

(d)

∃SuperMarket • NoMore ∧ TooBusy

�


